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Find the focus and directrix of the following parabola. Find the focus and directrix of the following parabola.
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Find the equation of the following parabola Find the equation of the following parabola.
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Find the focus and directrix of the following parabola. Find the focus and directrix of the following parabola.
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Find the equation of the following parabola Find the equation of the following parabola.
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Find the focus and directrix of the following parabola.

Find the focus and directrix of the following parabola.
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Find the equation of the trajectory of the following point P.

Find the equation of the trajectory of the following point P.
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Find the coordinates of the focus and the lengths of Find the equation of the following ellipse.
the major and minor axes of the following ellipse. T n
nvEn bA D 'fﬁjﬁl‘_ﬁ N ( —4 ) 0 ), (4 )% /%\\ N k L/ /%\ /lf_f" 75) % @D
11| RH i & 5 b b S kb 1BEH T LE
BE ORI 75 10 T 54 1 0 SRR 2 R L
x2 y2 x2 y2 Find the equation of an ellipse whose focus are two points (4, 0)
@ + =1 @ + =1 and (—4, 0), and whose sum of distances from the focus is 10.
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Find the equation of the ellipse obtained by expanding or contracting
the circle x2 + y2 = 42 based on the x-axis.
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Find the coordinates of the focus and the lengths of Find the equation of the following ellipse.
the major and minor axes of the following ellipse. T n
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x2 y2 x2 y2 Find the equation of an ellipse whose focus are two points (3, 0)
@ B + B =1 @ B + B =1 and (—3, 0), and whose sum of distances from the focus is 10.
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Find the equation of the ellipse obtained by expanding or contracting
the circle x2 + y2 = 32 based on the x-axis.
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Find the coordinates of the focus and the lengths of Find the equation of the following ellipse.
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x2 y2 x2 y2 Find the equation of an ellipse whose focus are two points (0, 6)
@ 9 + 9 =1 @ 9 + 9 =1 and (0,—6), and whose sum of distances from the focus is 20.
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Find the equation of the ellipse obtained by expanding or contracting
the circle x2 + y2 = 52 based on the x-axis.
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Find the focus, vertex, and asymptote of the following hyperbola.

E( 80

nnEn HA D

il [l e

©) — =1 ©) — =1

Lr) Th
e

focus

Vi ts? =v/25 =551
(=5.0).(s.0)

HbroTh
A R

vertex

(—+.0).(«.0)

-V

A 4R

asymptote

22 y* =1 &)
Lx)Th
B &

focus

Vot =5 &y
(=vs.0).(Vs.0)

519 Th
Eﬁ\

-~

vertex
(=2,0).(2.0)

jd‘/u% At A
BT 42

asymptote

Lr) Th
e

focus

Vit 3t =25 =51
(0,=5).(0.5)

HbroTh
A R

vertex
(0,-3).(0.2)

jd‘/u% At
BT 4R

asymptote

/k@ﬂﬂjﬂ/ﬁ@ j%:c %Zk&')J:
L, ’%% ,ﬁﬁ%@

Find the equation of the following hyperbola.
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Find the equation of a hyperbola whose focus are two points (o 0)
and (—5, 0), and the difference in distance from the focus is 8.
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Find the focus, vertex, and asymptote of the following hyperbola. Find the equation of the following hyperbola.
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Find the focus, vertex, and asymptote of the following hyperbola. Find the equation of the following hyperbola.
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